KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS PRT 28 FEB SH1
Exam Date & Time 28-02-2023 09:00:00

Subject : GE_Q01-Q10_PRT28FEBSH1

Question ID:- 1

Rearrange the following parts in correct order to make a meaningful sentence.
(a) for the distribution of food
(b) is to create an infrastructure
c the goal of public distribution system
he goal of public distribution sy
(d) to the poor and the needy

(1) (d) () (b) (a)
(2)  (b) (@) (c) (d)
(3) (c) (b) (@) (d
(4)  (a) (b) (c) (d)
Options:-

.1, Option ID :- 1,

. 2, Option ID :- 2,

. 3, Option ID :- 3,

- 4, Option ID :- 4,

Answer Given:- 3, Option ID : -3
Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
The police arrested the thief.

(1) The thief had been arrested by the police.

(2) The thief was arrested by the police.

(3)  The thief is arrested by the police.

(4) The thief was being arrested by the police.

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
- 3, Option ID :- 7,
- 4, Option ID :- 8,

Answer Given:- 1, Option ID : -5

Question ID:- 3



Fill in the blank with the correct preposition.

The old man is yet to recover his illness.
(1) with

(2) of

(3) from

(4 off
Options:-

.1, Option ID :- 9,
« 2, Option ID :- 10,
« 3, Option ID :- 11,

« 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4
Choose the correct tense form of the underlined expression from the given options.

I shall talk to him as soon as I have finished my work.
(1)  Present Indefinite

(2) Present Continuous

(3) Present Perfect

(4) Present Perfect Continuous
Options:-

.1, Option ID :- 13,

« 2, Option ID :- 14,

« 3, Option ID :- 15,

« 4, Option ID :- 16,

Answer Given:- 3, Option ID : -15
Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
My teacher said to me, ‘If you don’t work hard, you won't pass.’

(1) My teacher told me that if he did not work hard, he would not pass.
(2) My teacher told me that if I did not work hard, I would not pass.
3) My

Options:-
.1, Option ID :- 17,
« 2, Option ID :- 18,

« 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6



Identify the part which contains an error.
A good employee/is one/which is/punctual and efficient.

1) 2 © 4)

Options:-

.1, Option ID :- 21,

« 2, Option ID :- 22,

« 3, Option ID :- 23,

« 4, Option ID :- 24,

Answer Given:- 3, Option ID : -23
Question ID:- 7

Choose the word nearest in meaning to the given word.
DEARTH

(1) scarcity

(2) exaggeration

(3) pettiness

(4) poverty

Options:-

«1, Option ID :- 25,

« 2, Option ID :- 26,

« 3, Option ID :- 27,

« 4, Option ID :- 28,

Answer Given:- 1, Option ID : -25
Question ID:- 8

Choose the word opposite in meaning to the given word.
JuDICIOUS

(1) emotional

(2) indiscreet

(3) foolish

(4) talkative

Options:-

.1, Option ID :- 29,

« 2, Option ID :- 30,

« 3, Option ID :- 31,

« 4, Option ID :- 32,

Answer Given:- 2, Option ID : -30

Question ID:- 9



Identify the part of speech of the underlined word.
Rakesh is bent upon having a fight with his neighbour.
(1) Conjunction

(2) Noun

(3) DPreposition

(4) Pronoun

Options:-

.1, Option ID :- 33,

« 2, Option ID :- 34,

« 3, Option ID :- 35,

« 4, Option ID :- 36,

Answer Given:- 1, Option ID : -33
Question ID:- 10

Identify the underlined clause used in the given senterv e.
We asked him many questions when we met him.

)} Noun Clause

2)  Adjective Clause
) Adverb Clause
)

Principal Clause

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Subject : GH_Q11-Q20_PRT28FEBSH1

Question ID:- 11

frefafas ot @ aargds Teat 3/ W YIiE U 1 Gdte I St

ga-gfaasli % il faam 3 S aod 9 s g1 < € 97 oy ffu ® - Sfaa & wfa arfses
vgfd | fagm 3 73 1w dHhEE R s gfe & €, g Fnw siv-favarg ik siga &1 Femn
FTA N @) TR fahd WA e @1 @ ¥ G 97 A q-315c, 3fea-orfad w5 wad &
3iR arpTd favenu % uR W fhy Ha@ o gfemm yg[ fFm g1 5= 7 fed & 9o vsq

SR R w1 H FEE W FEHL I T4 dig foran )

T 3 3 oA wh faan §

(1) ufom =&

(2 fogm = sfasr %

(3) SHET % T Uge] I HRY 3 FHE &I FHR W qT@F
(4) FA-3GH IR F=a-373f40 1 FH WE H



Options:-

.1, Option ID :- 41,

« 2, Option ID :- 42,

« 3, Option ID :- 43,

« 4, Option ID :- 44,

Answer Given:- 3, Option ID : -43

Question ID:- 12

frerfcfaa mersr ot sqdes Tget S0 Ut ATUTRa U9 &1 Weleh I gifau|

- gl ¥ R Frar 3 o w99 <ie a8 9 & 78 snged i % - A ¥ o A
v | faem 3§ 5 ) U aheE iR rEefiE gfe € &, fomd S su-favarg ol stea = Ferm
Fed o @1} | SR fod W sad @ W €)1 fage 3 ow 1 a-aw, sfea-orqfad & wad &
3l amgd favainy % snuR W fepd fwea @1 gfesin ug@ e %1 7= A Sftaa & v gsq &
Frur 3R F FHE W HHF 30 F N dig fomn §)

fagm A e sA-w g fAfu & &
(1) gasrss arsd
(2) StEd & wfa afdes vgfd

(3) HEEa BA
(4) <effasH
Options:-

.1, Option ID :- 45,
« 2, Option ID :- 46,
« 3, Option ID :- 47,
« 4, Option ID :- 48,
Answer Given:- 2, Option ID : -46

Question ID:- 13

frefefaa maier @ s gd s Tt SR W ATUIRA U9 &1 el I Sifaa)

gu-gfauwsii % il fam 3 < 998 929 99 79 < € 9% oo Ay § - S % wfa aife
75 | foi 3 v 1 T ahda ol srEfiE gfe € €, fows Frw Sy-favarw o Sea = FErn
T N @ ¢ ) SR fahd W wawd @ @ ¥ faae 3 999 9 9315y, 3f-orafae 5 wed &
3iR gEpTd faveny & AuR W ey Fw@d o1 gfiema yg[ v &)1 5™ 7 Sfied & 93w T8 H
FRU S HE F U T HHB W g1 Hig o §)

yfavard 3i T H FIA fHHH IRV T @52

(1) =HHR

(2 famn

(3) d%ETd AR @A gfe
(4) AFfw gfesm
Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,



« 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

‘“gf o fau a1 of e’ g § YEifehd g § -

(1) Hdl FRH
(2) HH FH
(3) L FRH
(4) HYEH FH
Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,
« 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

T4 F YR R IFHTT oY §

(1) foee - Sfeaar

(2) Ue-T

(3) @ - @Y

(4) = - FA
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,
« 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16

fem 3 ouR W oTHT Wt g9 §

(1) BE-HE

(2) W - W

(3) AR - Y=
(4) @9 - G
Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
« 3, Option ID :- 63,
« 4, Option ID :- 64,



Answer Given:- 1, Option ID : -61

Question ID:- 17

“ehtlictl § et e’ et 1 wete s €
(1) T § @
(2) HE W HL I

(3) VSR A faan

(4) FR& FH AR GH SR

Options:-

.1, Option ID :- 65,

« 2, Option ID :- 66,

« 3, Option ID :- 67,

« 4, Option ID :- 68,

Answer Given:- 1, Option ID : -65

Question ID:- 18

‘qit’ wrez hl yAiFad) v ) §

(1) @n
(2) T
(3) &9
(4) TED
Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
« 3, Option ID :- 71,
« 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

frefafaa facret wse i 4 s7da §
(1) 79 - JFAT

(2) s - <y

(3) HAM - SfEw

(4) 39 - W

Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
« 3, Option ID :- 75,
« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 20



‘qu § $© U T ¥ a1 F (@ifrd e H g §

(1) fegaaEs

2) [ygTaEEs

(3) 9¥FEESH

(4) HIYEHH
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
« 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_PRT28FEBSH1
Question ID:- 21

Which state won the National award for Institutional Empowerment, 2022 under the category
Badhamukta Vatavaran ke Srijan Mein Sarvashrestha Rajya award ?

(1) Tamil Nadu

(2) Assam
(3) Kerala
(4) Maharashtra

‘FUTIEH G F P H A T’ 401 b F A IR UHIERHS (HErTd gwifaem) 2022
1 U QEhi foh T 4 St ?

(1) dfFaTg

(2) =HH

(3) A

(4) HBNY
Options:-

.1, Option ID :- 81,

« 2, Option ID :- 82,

« 3, Option ID :- 83,

« 4, Option ID :- 84,

Answer Given:- 3, Option ID : -83
Question ID:- 22

Which Book/title was awarded the Bal Sahitya Puraskar 2022 in Gujarati language by the Sahitya
Akademi ?

(I)  Mummy Mane Cycle Avadi Gai.
(2) Dad...Dad...Dad...

(3) Pankhimelo.

(4) Khiskoli Ne Computer Chhe Levu.



g AFCH FH S 991 § 94 2022 &1 91 e kR 6| Jeh/3iveh &1 93 fhan 0 ?
(1) w1 914 GefFa sarel

(2) <s.3TeT..8TS...

(3) @R

(4) Fegmd A FoE 8 oy
Options:-

«1, Option ID :- 85,

« 2, Option ID :- 86,

« 3, Option ID :- 87,

« 4, Option ID :- 88,

Answer Given:- 1, Option ID : -85
Question ID:- 23

Match List - I with List - II and select the correct answer using the code given below

List - 1 List - IT
{Awards) (Year in which the Award was instituted)
(A) Dronacharya Award () 1961
(B) Dhyanchand Award for Lifetime () 2009
achivements in Sports and Games
(C) Arjuna Award (IIT) 1985
(D) Rashtriya Khel Protsahan Puraskar 2002
Codes :

(A) (B) (O) (D)

1 @ 1v) {0 ()
@ @ @ (Iv) ()
3 (V) @ a @
4) (@n @v) @ @1



Tl - [ 1 et - 114 7oA SIS 3ik 919 fu 7 e &1 y3@m #3d g0 88 IO 61 999 190

Tl - [
(TEEN)

(A) KomEd EERR

(B) HWA-3E H @ZWAIH Hdflade & fau oAm=Eg (&
(C) 71 TEN

(D) T Wl GicHTE THR

HS:

(A) (B)
Ln @O av)
2 1M a@
(3) (Iv) ()
(4) (In (Iv)
Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,

Tt - 11
(TEEHN ITE A H aY)
() 1961

(I) 2009

(II) 1985

(IV) 2002

« 3, Option ID :-
« 4, Option ID :-

91,
92,

Answer Given:- 1, Option ID : -89

Question ID:- 24

Who was appointed the Prime Minister of Italy after the General Elections held in September

2022
(1)
(2
3)
(4)

~—~

5
Enric Letta.
Giorgia Meleni
Matteo Salvini.
Silvio Berlusconi.

Faamr, 2022 W g0 378 Al & a1% 32l &1 y4qEEs fwy fagea fem 7 ?

(1) TR A=

(2) SfSn gamt

(3) e "ifea

(4) fafsa argeniAl
Options:-

.1, Option ID :- 93,

« 2, Option ID :-
« 3, Option ID :-
« 4, Option ID :-

94,
95,
96,

Answer Given:- 4, Option ID : -96

Question ID:- 25



Where was the ‘Cities Climate Leadership Group C 40 World Mayors Summit’ held in October
2022 ?

(1) Oslo

(2) New York
(3) Taris

(4) Buenos Aires

R, 2022 § ‘fadis Az ey qu C 40 9 974 |fge’ g svdifea oz man?

3) ufm
(4) =FTH JAIE
Options:-

.1, Option ID :- 97,

« 2, Option ID :- 98,

« 3, Option ID :- 99,

« 4, Option ID :- 100,

Answer Given:- 3, Option ID : -99
Question ID:- 26

Which is the name given to the thin outer boundary that encloses a cell ?
(1)  Nucleus

(2) Cytoplasm

(3) Cell Membrane

(4) Stomata

Ueh &IV &) 9REg 3 aredl vad! Sed 99 391 Faald § ?
(1)  Fxan (faaa)

(2) WEIWRR

(3) HifvrEn facen
4 wHa
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
« 3, Option ID :- 103,
« 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27



Who wrote the book “The Social Contract’ which is believed to have inspired the revolutienaries in
the French Revolution ?

(1) Thomas Hobbes

(2) John Locke

(3) Jeon-Jacques Rousseau
(4) Montesquieu

Hrre wifa § wifaswife &1 3R F@ ach g e 9w sigw’ fead fadi ?
(1) ofEqEsH

(2 SMA S

(3) STH-IFG &

(4) H=E

Options:-

.1, Option ID :- 105,

« 2, Option ID :- 106,

« 3, Option ID :- 107,

« 4, Option ID :- 108,

Answer Given:- 3, Option ID : -107
Question ID:- 28

Under which of the following Parts of the Indian Constitution the provision related to maternity
relief is written ?

(1) Fundamental Rights

(2) Fundamental Duties

(3) Directive Principles of Stat Policy
(4) Citizenship

9d & g & g wm A wgfa wgfaw & susia fmar o §2

(1) Ha Afysr

() e HEA

(3) T & Hifd fces a9
(4) AriREd
Options:-

«1, Option ID :- 109,
« 2, Option ID :- 110,
« 3, Option ID :- 111,
« 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29



Which of the following Union Territories in India has the highest percentage of households using
clean fuel for cooking a cording to National Family Health Survey 2019-21 ?

(1) Chendigarh

(2) Puducherry

(3) Lakshadweep

(4) Andaman and Nicobar

AL YRER w@rey qaaqor 2019-21 % HTER HRA & {69 Ho1 T 87 & ol 1 @A 9 7 W= 344
=1 yam & w1 gfoer waifues 22

(1) =g
(2) I
(3) &g
(4) ¥Feud 3ir FwEn

Options:-

«1, Option ID :- 113,

« 2, Option ID :- 114,

« 3, Option ID :- 115,

« 4, Option ID :- 116,

Answer Given:- 3, Option ID : -115
Question ID:- 30

Which among the following is a Kharif crop ?

(1) Barley
(2) Mustard
(3) Peas
(4) Jute
frafafad § 4 #9 @ wva @0 31 87
(1) st
(2) |
(3) WX
(4) T
Options:-

«1, Option ID :- 117,
« 2, Option ID :- 118,
« 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PRT28FEBSH1



Question ID:- 31

How many 5's immediately preceeded by ‘4’ but not succeeded by "2’ are there in the following
sequence ?

5205 421453135453 45105

M 1
2 2
3 4
(4) 3

frafafaq den w4 8 frqa 5 s e wea v A fFgag d 2 a2
520542 145313545"°45105

1 1
2 2
3) 4
(4 3
Options:-

«1, Option ID :- 121,

« 2, Option ID :- 122,

« 3, Option ID :- 123,

« 4, Option ID :- 124,

Answer Given:- 2, Option ID : -122
Question ID:- 32

Ankita starts from a point ‘P* and walks 15 metres towards North then takes left turn and walks
20 metres and then takes right turn and walks 25 meters. She finally takes right turn and walks
10 metres and stops at point ‘Q’. Reema also starts from the point ‘P’and walks 5 metres towards
East, takes left turn and walks 40 metres to reach point ‘R’. In which direction is point ‘Q’ of point
‘R,

(1) North
(2) South
(3) East
(4) West

3ifwRar ‘P foig @ 9 & S & 3l ST A 3R 15 drex aad €, fR ag arff oiR yEedt § iR 20 Hiew
wTerdl & qen e grif iR SRt 25 et Tad) €1 37d § a8 g s st § 3R 10 et 9ad § oiv ‘Q fig
TRl & 1 T @ P fog R I YE OE S IR 5 Hie Tt €, R A o guet R foig W uged
& fou 40 dex Fed &1 foig ‘Q foig R G fra fga 5 €2

(1) W
(2) <fgm
@
(4) afe=m

Options:-



1, Option ID :- 125,

« 2, Option ID :- 126,

« 3, Option ID :- 127,

« 4, Option ID :- 128,

Answer Given:- 4, Option ID : -128
Question ID:- 33

P,Q RS T, U Vand W are sitting in a line facing east.

‘R’ is on the immediate right of ‘'S". ‘Q’is at an extreme end and has “T” as his neighbour. ‘V’ is
between “T" and ‘U’ . ‘S’ is sitting fourth from the south end. There are two persons between ‘P’
and "U’.

Who is sitting on the immediate left of "W’ ?

1 P
2 Q
3) R
4 S

P,Q RS T, U,V 3R WId &l 3R gg &t Uk df 1 33 2|
‘R, ‘S o UeheH g1 AR E1'Q, W % TH SR WE T IR YAl 2 1V, ‘T’ R ‘Y Fa= 4 81
‘S, SfHolt BR A IS TR W HA 1 P 3R U F o E | AT W48 £

‘W’ 3 UsheH Rl 311 i w31 7 2
(H P

2 Q

(3) R

4 S
Options:-

«1, Option ID :- 129,

« 2, Option ID :- 130,

« 3, Option ID :- 131,

« 4, Option ID :- 132,

Answer Given:- 1, Option ID : -129
Question ID:- 34

Given below is a question followed by two statements numbered I and II each containing some
informaton. Decide which of the statement(s) is/are sufficient to answer the question.

Q: What was the age of Sumit in the year 2021 ?
Statement [ : Gaurav is five years older than Sumit.
Statement I :  Sumit was born in the year 1999.

(1) The statement I alone is sufficient to answer the question while the statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while the statement I alone i not
sufficient.

(3) Both the statements I and II together are necessary to answer the question.
)

(4) Both the statements I and Il together are not sufficient to answer the question.



A g e o @ foaws 9 ) e 1 sk 11 feo e E A @ uore 9 g9 sasid @ S §) e
FAvig ifee fo6 A F/8 FHeF w9 1 IW <A o fow vara 878

T: 942021 9 §fud &I g @ o} ?

FAAL: 7RG Gfag A 5 99 991 ]

wmA I1:  gfFd &1 99 a9 1999 § g o)

(1) YA 3Fhol T¥A 1 IW A & foau waia ¥ Fafer e 11 o7t yaid &1 31
(2) WU I iFed Y3 H1 I 37 F forw, vafa & Fofch e 1 31ehel waa 741 ¥
(3) e 13RI A U9 &1 ST A & fau sevTs §)

(4) HEA I 3R I At ¥e7 1 IR A & fAu gaia 785 7)

Options:-

«1, Option ID :- 133,

« 2, Option ID :- 134,

« 3, Option ID :- 135,

« 4, Option ID :- 136,

Answer Given:- 3, Option ID : -135

Question ID:- 35

In the diagram given below, square represents skilled, circle represents optimistic, rectangle
represents rural and triangle represents tactful persons.

11
10

14 \

15

12

How many urban persons are skilled, optimistic and tactful ?
(1) 6

(2 9
3 7
4) 4



1 feu T sy 4, = <4, g9 A, Ed AT qen Y sTaeR-Fvd oafaadl 1 wfaffie s
2

11
10

14 \

15

12

o W&l =afod qr, JAIEIE) iR SFaeR-$9A € ?
() 6
2 9
3 7
(4) 4
Options:-

«1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT28FEBSH1
Question ID:- 36

Which of the following is not a popular example of web browsers ?
(1) Mozilla Firefox
(2) Microsoft Edge
(3) Google Chr me
(4) Acrobat Reader

frafafaa 9 3 =64 9 99 aEs (web browsers) 1 T AT TR T 8 ?

(1) AfSA FarwEe
(2) HEHIETRE TH

(3) TS hTH

(4) Thae et

Options:-
.1, Option ID :- 141,
« 2, Option ID :- 142,



« 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

Which type of network are generally configured in our computer labs where a printer can be
shared by 10 or more computer systems ?

(1) PAN
(2) LAN
(3) MAN
(4) WAN

SR HHI A= B, Sel Ueh {422 1071 TqY ek Froget fowey o1 Qg o 9hd1 8 imd 77 firg wanr
& qZTH FEI Bl B ?

(1) T (PAN)

(2) WA TTUT (LAN)

(3) THTTA (MAN)

(4) T U (WAN)
Options:-

.1, Option ID :- 145,

« 2, Option ID :- 146,

« 3, Option ID :- 147,

« 4, Option ID :- 148,

Answer Given:- 2, Option ID : -146
Question ID:- 38

Which types of characters should we use in our password to make it a stronger one ?
(1) Only alphabets

(2) Alphabets and numeric digits

(3) Alphabets and special characters

(4) Alphabets, numeric digits and special haracter

T 31 HaE 1 sifus Wagd 99 6 fAU f6E R & SRR (character) &1 AT A1 9rfgw ?
(1) haw g9

(2) 99 3R §E&AY

(3) I 3R WU Htar

(4) 9, F@IT FR T HLEFI
Options:-

«1, Option ID :- 149,
« 2, Option ID :- 150,



« 3, Option ID :- 151,

« 4, Option ID :- 152,

Answer Given:- 4, Option ID : -152
Question ID:- 39

What role is played by a switch in computer system ?
(1)  Used as an input device

(2) Used as a computing device

(3) Used as a networking device

(4) Used a an output device

Frop fawen 3 faq (switch) @1 ofe o 8 2
(1) & gAye fearsd & =9 § g5 fh o

(2) U FfE fearzd = w9 H wam fHa @ R
(3) UH Jzafh feanyd & w § w3 famm s €
(4) T FRYE feard & w9 § yAm fona S

Options:-

.1, Option ID :- 153,

« 2, Option ID :- 154,

« 3, Option ID :- 155,

« 4, Option ID :- 156,

Answer Given:- 1, Option ID : -153
Question ID:- 40

One of the popular online payment method, UPI stands for :
(1) Unified Payments Interface

(2) United Payments Interchange
(3) Universal Payments Interchange

(4) Uninterrupted Payments Interface

AT ofieEd o (He) fafu 4§, gdtens (UPT) =1 o3 § -
(1) FAIFES THe geTHH

(2) FABEE YHH XA

(3) Fiedw HIg e

(4) e g FITFY

Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
« 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157



Subject : UL_Q41-Q55_PRT28FEBSH1
Question ID:- 41

Which of the following statements is correct ?

(I) Development refers to quantitative changes.
(2) Growth and Development go hand in hand.
(3) Growth refers to qualitative changes.

(4) Development is a life long process.

Feaifend § @ 19 W1 %y W 87

(1) faw =1 Hoy Faa gEEs gRadd J B
(2) dfg iR famry A1 We-wy T )

(3) 3fg = arwd Tone gfEda @ 2

(4) fam = S wd= gfwm §)

Options:-

.1, Option ID :- 161,

« 2, Option ID :- 162,

« 3, Option ID :- 163,

« 4, Option ID :- 164,

Answer Given:- 4, Option ID : -164
Question ID:- 42

Approximate age of infancy stage is ___
(1) from conception to three years.

(2) from birth to 2 years.

(3) from1 to 4 years.

(4) from 2 to 3 years.

Sroiaaeen #t ST g = g2
(1) 7iaE 9 dF
(2) SHE2749dH
(3) 194 q4adah
(4) 2989599 dh

Options:-

«1, Option ID :- 165,

« 2, Option ID :- 166,

« 3, Option ID :- 167,

« 4, Option ID :- 168,

Answer Given:- 2, Option ID : -166

Question ID:- 43



Read the following :
(A) Child is learning physiological stability.
(B) Child is learming to pay attention towards things, persons and events.
(C) Child can imitate the actions of others.
At which developmental stage the child is ?

(1) Infancy.

(2) Early childhood.
(3) Later childhood.
(4) Adolescence.
freifera =1 ufew :

(a) =ereh 2feeh Tonfam @ @ )
(b) e diel AfFadl oK TRl %1 3R e A S W E )
(c) oTeTh 3= oafmal &Y feparsi &Y Foha R ekl T

A1 3w % AMHR W I fasmy & forg 9§ § 2
(1)  deEEen
(2) YR TR
(3) TEdl AAHA
(4)  feronzraen

Options:-

1, Option ID :- 169,

« 2, Option ID :- 170,

« 3, Option ID :- 171,

« 4, Option ID :- 172,

Answer Given:- 2, Option ID : -170

Question ID:- 44

At which stage of development inteliectual skills and concepts necessary for civic competence
develop among individuals ?

(1) Childhoed.

(2) Adulthood.

(3) Middle childhood.
(4) Adolescence.



famrg Y T syaeen B safwal | AniRs ifvemd & foau snifed 9 snaves gfe-Hive iR stauromd
fasrfya eidt € 2

(1) deIE™

(2) dreEwn

(3) HUIHRA

(4) fwmenuaEen
Options:-

.1, Option ID :- 173,

« 2, Option ID :- 174,

« 3, Option ID :- 175,

« 4, Option ID :- 176,

Answer Given:- 4, Option ID : -176
Question ID:- 45

Identify the correct statement :

(1) Accommodation refers to easy absorption.

(2)  Assimilation refers to enlargement of thought process.
(3) Accommodation and Assimilation are the same.

(4) Equilibrium refers to the balancing process.

& %A ggafn

(1) THSH = aqd P AF9090 J 21

(2) ARSI F e FHe whha % demed ¥ 2
(3) HYSA 3R ArcATEw A HEA |

(4) TN AR g SfYd i 1 gfea A ¥

Options:-

«1, Option ID :- 177,

« 2, Option ID :- 178,

« 3, Option ID :- 179,

« 4, Option ID :- 180,

Answer Given:- 4, Option ID : -180
Question ID:- 46

In which age group children have keen sense of right or wrong ?
(1) From 5 to 8 years.

(2) From 9 to 11 years.

(3) From 12 to 14 years.

(4) After 14 years.



famifera o | forg 21 W F A § 9E A1 T 1 99 WA A & 2

(1) 5a9d8ay

(2) 99113y

(3) 12814 a9

(4) 14 99 F &R HT 3G
Options:-

.1, Option ID :- 181,

« 2, Option ID :- 182,

« 3, Option ID :- 183,

« 4, Option ID :- 184,

Answer Given:- 3, Option ID : -183
Question ID:- 47

In order to develop a strong sense of self respect and sentiment of self regard among children,
what the teacher should not do ?

(1)  Children must be encouraged to do their work independently.
(2)
(3) Children’s freedom in day to day work must be restrictec .

(4) Due respect must be shown for the individuality of the child.

Children must be given proper love and affection coupled with adequate sense of security.

JTAhl H 2T A R - H1GA1 1 Yo Wi fafad A & fou 23eaves it 9= 8 &R =nfeu ?
(1) el # AFEE: Wdd B9 H 91 FE wH o foqg fedifea T s afgu)

(2) STl H 9AH G 1 M9 fafEd A0 30 3= 99 R He fear s arfew)

(3) <fek wrd H STl o) wdsar sIfHarda: yfsfig oo ifew )

(4) TaH § ARSI H TG H 9fd GO FEE U S 916 |

Options:-

.1, Option ID :- 185,

« 2, Option ID :- 186,

« 3, Option ID :- 187,

« 4, Option ID :- 188,

Answer Given:- 3, Option ID : -187
Question ID:- 48

Which one of the following is net a characteristic of a particular type of emotion ?
(1) It has its association with some basic instincs.

(2) It exhibits intensity of feelings.

(3) Itis independent of specific physiological changes.

(4) Itis aroused as a result of perception.



freifera § 9 @ frd) foda wapr o dam =t fadied & &2
(1) 351 9re=d &faw gevd gagaf S 8@ 8 |

(2) s sEAsl Y yaed weidid g R

(3) e fafuw s Faros aftedHl & @d @@ g

(4) T8 TNV % FAEEY A Sl 2 )

Options:-

.1, Option ID :- 189,

« 2, Option ID :- 190,

« 3, Option ID :- 191,

« 4, Option ID :- 192,

Answer Given:- 3, Option ID : -191
Question ID:- 49

Mohan is an active member of a ‘peer group’ and has developed an attitude and behaviour of
indifference towards family members. It is an outcome of :

(1) gang influence.

(2) family neglect.

(3) primary socialization.
(4) secondary socialization.

qie et ‘gremein gz’ @1 9 ¢ iR wier % gl ¥ wfd 3ud serdiaar #1 sifyafa 8iR =ar
fassfaa & w1 &1 28 Fwifed § 3§ g wRom &2

(1) 1w e

) df@Er g Ien

) werfen GTefig

(2
3
(4) fgdiaw gmshiFm
Options:-

«1, Option ID :- 193,

« 2, Option ID :- 194,

« 3, Option ID :- 195,

« 4, Option ID :- 196,

Answer Given:- 4, Option ID : -196

Question ID:- 50



Which of the following statements is/are correct ?
(A) Biologically life begins at birth.
(B) Legally life begins at conception.
(C) Biologically life begins at conception.
)

(D) Legally life begins at birth.

(1) (A)and (B)

(2) (A) alone

(3) (C)and (D)

(4) (B) alone
freifera § @ @ /A H W 8/ ?

(A) e g T Sffaq 9= % THF 3T T B
(B) faftra: Siaa =1 st e % |9 B 21
(C) Sfas gl A Sigd nuiuE & 97 3Ry a1 ¥ |
(D) faferd: dffad 1 guRY o9 HEE F a1 7

(

1) (A) &R (B)
(2) FAE (A)
(3) (O 3R (D)
(4) HIA (B)
Options:-

«1, Option ID :- 197,
« 2, Option ID :- 198,
« 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

Which one is not true about creativity ?

(1) Creative thinking can not be a closed thinking.

(2) Creativity is not universal.

(3) Creative expression is a source of joy and satisfaction.

(4) Creative abilities are capable of being nourished and nurtured.

geFeiiad & 9 d FAeifea I g Fn a2
) g fHad Haa e T8 & g B
) GO aa I sifaeE 78 a &)
(3) gsArASE Hfveats g iR Hdw %1 € ?)
) goAra® Arga wifvd ok geafad &1 S Hehdt 8 )



«1, Option ID :- 201,

« 2, Option ID :- 202,

« 3, Option ID :- 203,

« 4, Option ID :- 204,

Answer Given:- 2, Option ID : -202
Question ID:- 52

Which one of the following, do you think, is among the ideals of a democratic society ?
(1) Powerful leadership.

(2) Obedient fellowship.

(3) Respect for enlightened individual.

(4) Belief in the opinion of the leader.

Ayt gy §, F=iferd B & 0 Sierdifash Gae o aiey &2
(1) wfeared A9
(2) FHEL FAaEd
(3) 9IS - = % ufd ¥ =
(4) Jd & Hd R fava™
Options:-
.1, Option ID :- 205,
. 2, Option ID :- 206,

« 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

Which of the following can not be a test to measure intellectual ability of a learner ?
(1) New learning and use of past learning.

(2) Meeting the demands of a situation.

(3) Making sound ethical judgements and moral decisions.

(4) Solving problems confronted by her/him.

frifera § 9 a1 sfurged ) difgs Frmaa & 9r9a &1 i T8 & et @ 2
(1) o A 3 s SR H g

(2) fefa =Y = = Q@ @A

(3) <19 Afqra vl S sl A fvfg o

(4) SIRAMHA P GEY JHATE) THENS H FHYH

Options:-
«1, Option ID :- 209,
« 2, Option ID :- 210,



« 3, Option ID :- 211,

« 4, Option ID :- 212,

Answer Given:- 3, Option ID : -211
Question ID:- 54

Good schools should be concerned with development of children which mainly includes
acquisition of

(1)  kills required by a healthy person.

(2) skills required by the nation.

(3) knowledge of the subjects.

(4) life skills.

I Tpell ] TRl h faHE R 2 <1 Iifew fqad gera: FAeifea § 9 feae o6 wfaa 22

(1) wxr-=rfe % fou sufad e
(2) B H fau ufea Fed

(3) fowdi @ 3mA

(4) SfEd - R
Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
« 3, Option ID :- 215,
« 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55

Garima is a student who begins to imitate others and remembers events and moves from reflexive
actions to intentional activity. She is at which stage of ognitive development as per Piaget’s
stages of development ?

(1) Sensory - motor.

(2) Pre operational.
(3) Concrete operational.
(4) Formal operational.

afe A BT 3T oAl it A H et § 3l yfded el @ de SHsmea feu SHa F
o T3RaT SR Hoea = TR wEdl @ d 94 {6 fras % fawm - =R F Aq9R 98 g3rcs® Ty ¥
g g g &2

(1) ¥ T
(2) Y& dfharars
(3) 9o dismarEs

)
(4) Slu=fer d@heacms

Options:-



.1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Subject : UTL_Q56-Q70_PRT28FEBSH1
Question ID:- 56

The life centred approach to curriculum development ignores the principle of :
(1) Learning to know.

(2) Learning to do.

(3) Learning to live together.

(4) Learning to solve problems.

qrga=al e 4 sfied Hfgd surs F fagr =i 30a & B
(1) S+ fo stfm
(2) = % fom sfem

)
(3) W wA & fau sferm
(4) T gHYE & fau sy

Options:-

.1, Option ID :- 221,

« 2, Option ID :- 222,

« 3, Option ID :- 223,

« 4, Option ID :- 224,

Answer Given:- 3, Option ID : -223
Question ID:- 57

Which one of the following is an example of “Assessment for Learning’ ?
(1) Assessment of homework.

(2) Anecdotal re ords.

(3) Scholarship examination.

(4) Annual examination.

fafafea 9 4 @0 ' o1ftrm & fou e’ o T ST §?
(1) & A 3MHA
(2) SuEHES Ja@

(3) @Fgfa gl
(4) afi qdan
Options:-

«1, Option ID :- 225,



« 2, Option ID :- 226,

« 3, Option ID :- 227,

« 4, Option ID :- 228,

Answer Given:- 1, Option ID : -225
Question ID:- 58

Minimum Levels of Learning was brought with a view to:
(1) improving teacher training,

(2) improving quality of learning.

(3) improving classroom environment.

(4) improving infrastructural facilitie in schools.

FH B I T F ARG A AT
) HEHYH e H guR o[

(2) ™ UEE § gUR F3

(3)  heq e § U HTH

(4) foaadl ¥ saaradcns gawsi § gur s

Options:-

«1, Option ID :- 229,

« 2, Option ID :- 230,

« 3, Option ID :- 231,

« 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which one of the following is not a ‘ole of teacher in experiential learning ?

(1) Approaching the learning experience in a positive, non-dominating way

(2) Helping students ‘dentify an experience in which they are personally committed

(3) Asking students to look for relevant and meaningful resources themselves
(4) Finding a sense of balance between the academic and nurturing aspects of teaching

FqvaIEH S T seas F gfge fefafen 6 § SE-9 T@ 72

(1) HHRegs, T-yuHar als § Aty o7q9a s yga

(2) foenfeldi 1 39 s1gwa Sl vEgaH &A@ § g & faus whi 9 afsrd w99 dfqag @
(3) faenfeat 1 = wrdfines 3R s1eqel Hared ged & fag we

(4) fozm o fefore 3R D 27 10 wege il & o9 TH G 1 HIFAT HT YdT ST
Options:-

.1, Option ID :- 233,

« 2, Option ID :- 234,
« 3, Option ID :- 235,



« 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60

An effective teacher

(I) Manages her/his class well.

(2) Knows her/his subject well.

(3) Facilitates her/his students to learn on their own.
(4) Cares for her/his students.

T YHE SHHH ¢

(1) T FH1H B G FHAA |

(2) 379 fawa = yeluifs IHa §

3) Toenfeini = @ dveA § ggEar & )
(4) 3T faenfea o1 e @ R

Options:-

.1, Option ID :- 237,

« 2, Option ID :- 238,

« 3, Option ID :- 239,

« 4, Option ID :- 240,

Answer Given:- 3, Option ID : -239
Question ID:- 61

Which one of the following is not an assessment strategy employed in constructivism ?
(1)  Oral discussion

(2) Mind mapping

(3) Unit tests

(4) Hands on activities

ggaEr 3 fAefafad 9 9 5 dedq sEAfa & 981 srgarmn s g2

(1) wifgs ==

(2) WG gEfEE

(3) TS WRIEW

(4) @ fopamd
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243



Question ID:- 62

Which one of the following is correct ?
(1) Evaluation is a process of quantifying a given phenomena.
(2) Evaluation is a process by which information is obtained relative to a known objective.

(3) Evaluation refers to value judgement made on a phenomena based on both qualitative
and quantitative informations.

(4) Evaluation is a process of an adding grades based on certain tests.

frfafaa § 4 SF-91 #2m 58?2

(1) qeaisd T feu T ufige =1 oftm sa &1 o gfswar 21

(2) HeEiwA TH Uik § 99+ 570 U 91 SR o WA SEHK WE ) Sl & |

(3) HAIHA HEHS A NHB A AAnE] W faum w3 el afiges w geaisd [ oF i
LiEDIE]

(4) HeHEHA FHiqed THE W AT <7 H Tk 91 81

Options:-

.1, Option ID :- 245,

« 2, Option ID :- 246,

« 3, Option ID :- 247,

« 4, Option ID :- 248,

Answer Given:- 3, Option ID : -247
Question ID:- 63

Which restricdon will be of no avail in converting essay type into a restricted response items ?
(I) Length of respense

(2) Content of response

(3) Duration of response

(4) Gravity of response

FH-J wiqey o1 s gv w1 T difd ST ar 9941 § 9GBS o1y el enm ?

(1) W& G

(2) IR A fawa-a5g
(3) W HI srafy

(4) I F THRA
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,
« 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64



Which one of the following is an essential thing to be borne in mind while forming group of
students ?

(1) Possibility of immediate evaluation
(2) Possibility of systematic approach
(3) Possibility of free interaction

(4) Possibility of equal participation

B 1 TF G5 99§99 FAfataa 9 4 feg sifAad am &1 o @ s aifen ?
(1) JhTA Hedioh &l GHEA1

(2) oyafeyq IIPTH H FHEA

(3) He Ul TR &Y Haram

(4) HAE FeWlird =t {9

Options:-

.1, Option ID :- 253,

« 2, Option ID :- 254,

« 3, Option ID :- 255,

« 4, Option ID :- 256,

Answer Given:- 4, Option ID : -256
Question ID:- 65

Which of the following information is not contained in the Unit Plan ?
(I) Major and Minor concepts dealt in the Unit

(2) Total number of periods required, sub unit wise to teach the unit
(3) The method and strategies to be used sub unit wise

(4) Unit tests

THE 415 W PH-H A wfaer 487 €t & ?

(1) 363 ¥ wihe w€ SR SIS HehouAg

(2) 3T S ggA & forw 3u-31E aR s Wifad &t $a den
(3) SU-FHIE IR WM i I arent fafy oIk wrdfa

(4) 3R W

Options:-

.1, Option ID :- 257,

. 2, Option ID :- 258,

« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 1, Option ID : -257

Question ID:- 66



Whiich one is not a basic quality of an active student ?

(I) Asking probing questions

(2) Developing ideas and questions in their mind before speaking
{3) Actively participating in all activities

(4) Frequently volunteering to contribute

uF 9ia oF #i1 g favsm fAefafad 9§ 7 38 8@ 22
(1) o v g

(2) S/ vEe 3 feum # foaar o v U9 K
(3) weft foransil | wika w9 9 s &

(4) TR-IXED Y g A A FHa

Options:-

«1, Option ID :- 261,

« 2, Option ID :- 262,

« 3, Option ID :- 263,

« 4, Option ID :- 264,

Answer Given:- 1, Option ID : -261

Question ID:- 67

A tea her is analysing performance of students in qualitative terms as poor, satisfactory, average,
very good and excellent. Which tool she/he might be using ?

(1) Check list

(2) Rating scale
(3) Questionnaire
(4) Portfolio

Teh AT BN, GAseh, sigd, 954 o=e1 3l Ipe S [NEeS el H faenfe & w5 fsnga &
favao Y T@1 &1 9% fhT Suaul oy @ 7

(1) = gst

(2) ¥ @ha

(3) gEAEE]

(4) MR
Options:-

«1, Option ID :- 265,
« 2, Option ID :- 266,
« 3, Option ID :- 267,
« 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 68



About Monograde teaching situation, which of the following statements is true ?
(I) There is high cooperation among children.

(2) The situation is mostly informal.

(3) Teacher domination is least.

(4) Variety of experiences of children is limited within their gr up.

T e feafq % s 3, fFefafad 9 3 SE-1 wg7 @€ 2
(1) ForenfeRi & siferes T ar €1

2) Teaf sifirmio: stta=nfes @ 21

(3) HEATIH H YT FHH Bl § |

(4) foenfeiei % sl w1 fafaudr 393 o0z & sier difga gt 71

Options:-

«1, Option ID :- 269,

« 2, Option ID :- 270,

« 3, Option ID :- 271,

« 4, Option ID :- 272,

Answer Given:- 4, Option ID : -272
Question ID:- 69

Which of the following statements is not true ?

(1)  Self assessment helps students to reflect on their own learning.

(2)  Self assessment helps students develop skill in meta-cognition.

(3)  Self assessment helps students to consolidate their learning through interaction.
(4) Self assessment helps student b come independent.

frfalfaa § | E-a1 e 9 A8 § 2

(1) TE-3THeA S ) 3T W & AR T YHW e H Hemadl L ¢ |

(2) W-HTHeA BEI H) Ge-HIH (Meta-Cognition) § Hod fasfAd &3 | wemd &l 81
(3) W@ HA BT 1yl o W wrem A sA siferre 6 ggg oA H T R )
(4) @ AFHA BE Sl 3cH MR I H TgEal L 2 |

Options:-

.1, Option ID :- 273,

« 2, Option ID :- 274,

« 3, Option ID :- 275,

« 4, Option ID :- 276,

Answer Given:- 3, Option ID : -275

Question ID:- 70



If you find a student wearing some odd dress in your class, you will

(1)
2
3
(4)

Not pay any attention.

Make a joke on her/him.

Counsel her/him to wear school uniform instead of such dress.
Ask the student nott o attend the class.

o &g faenell sy} e U S3HTE Greies 98T 3041 § df 379 31 41 ?

(1)
(2)
(3)
(4)

I W &AE T8 S
Y I U 9 % WH W EhA &I TAEH TETHT 3T HY AT o
farenef & e F 71 3173 B FEN

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT28FEBSH1

Question ID:- 71

Normally ‘Inclusive Education’ refers to :

(1)
(2)
(3)
(4)

Girl students
Adult Education
Divyangjan students

Minorities Education

A  gaEaen faen @ e ? 2

1)
(2)
(3)
(4)

wfcAspt faenat

Tre faan

fesaiirsH faemel
Heud@aH F foen

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
« 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 72



What is ‘Mental Health’ ?

(I) Physical well being

(2) Cognitive, Behavioural and Emotional well being
(3) Mental well being

(4) Social well being

‘grfas wmen’ # R ?

(1) wrifts &9 | @ g

(2) HIFREF, FFFTE AR HAEF €Y @ A
(3) AEfa® T @ A

(@) wEiE &9 W 8

Options:-

«1, Option ID :- 285,

« 2, Option ID :- 286,

« 3, Option ID :- 287,

« 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

Which one of the following is related to mental illnes ?
(I) Radio therapy

(2) Chemo therapy
(3) Behavioural therapy
(4) Cognitive and Behavioural therapy

frafafea § A 9 @ AAfas I 9 Gefig § 2
(1) e o

(2) M IR

(3) SHEERId 9d

(4) HIFTES R FFFOE A

Options:-

.1, Option ID :- 289,

« 2, Option ID :- 290,

« 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74



What is the advantage of ‘Community Centres’ with regard to learning ?

(D)
2
3)
(4)

Socialisation
Excitement
Behavioural change

Natural learning

Y & Hay H ' qmafas H<i @ A §2?

AMTsTishTol

Eascll

FEEE® aCAd
Aqfifs o1ftrm

Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 1, Option ID : -293

Question ID:- 75

The mental disorder ‘Dyscalicula’ is characterised by :

(1)
(2)
3)
(4)

Unable to read any book

Unable to learn the simple concepts
Unable to recognize the Numbers
Unable to see Black Board

‘Fegdpefipar’ Aae Ffas faswr =t fadsm § -

(1)
(2)
(3)
(4)

el g&as &l UgA § 7Hwd @A

TQIT=T GHURUASH &) TieA 8 31w @
HEm3l # 99 %3 § 7999 @A
ieh 1Sl oEA H 3qud @

Options:-

1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76



What is ‘Micro Cephaly’ in the context of Mental health ?
(1) Protruding tongue

(2) Small ized Head

(3) Large sized Head

(4) Pr truding Eye Balls

grfa® W + 439§ ‘gemi fatdl’ & 991 3w § 2

(1) o Faaneft g2 Sfiu

(2) B AHR 5T

(3) € IHR w fax

(4) &R e gu AR
Options:-

.1, Option ID :- 301,

« 2, Option ID :- 302,

« 3, Option ID :- 303,

« 4, Option ID :- 304,

Answer Given:- 2, Option ID : -302
Question ID:- 77

Which one of the following Programme is launched by Ministry of Education, Govt. of India,
to address mental health issues of children ?

(1) Atmcnirbhar Bharat
(2) Deeksha

(3) Manodarpan

(4) Sahayog

qreTeh] o AFfEH WS et g3l o g™ % fou fen H3erE, IRd W@ER 50 SR 91 widwY IS
fera 7 82

(1) IREANR sRd
(2) e

(3) HAEY

(4) W™
Options:-

«1, Option ID :- 305,
« 2, Option ID :- 306,
« 3, Option ID :- 307,
« 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78



What should be the Quality of Professional Health Counsellor in schools ?
(1) Emotions

(2) Sympathy
(3) Apathy
(4) Empathy

faemeal & T¥reaR e quEeigE § S v e Aty ?

(1) Hm

(2) weEP

(3) g

(4) I
Options:-

.1, Option ID :- 309,

« 2, Option ID :- 310,

« 3, Option ID :- 311,

« 4, Option ID :- 312,

Answer Given:- 4, Option ID : -312
Question ID:- 79

The disorder “‘Autism’ is a kind of
(1) Physical disability

(2) Inteliectual disability

(3) Visual disability

(4)  Sensory disability

W

‘eArar AHe faer feges vh YR B 7

(1) wmifw S
2 dfgs Fgwdr
(3) gfedddt Hwedm
(4) GaS W
Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,
« 4, Option ID :- 316,
Answer Given:- 2, Option ID : -314

Question ID:- 80



What is the advantage of Educational Counselling and Guidance in schools ?
(1) Shows direction to profession.

(2) Leads to academis excellence.

(3) It will boost confidence to take healthy decisions.

(4) Helps in getting Jobs.

faarerai o Sifrer qamet &R gri fadym s e ena €2
(1) =gFE™ i e feam 8

(2) Viferd Iped A A I

(3) =g 3= fAvig o & fau favarg 4 sfg w21
(4) VMR YA H gIFar FE1 R |

Options:-

«1, Option ID :- 317,
« 2, Option ID :- 318,
« 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT28FEBSH1
Question ID:- 81

Which one of the following teachers is a good eader ?

(I) Mr’ A’ won teachers’ association election third time.

(2)  Mr/B’ helps all teachers in filling up their Income Tax returns.

(3) Mr.C’ is able to convince all teachers to come in time to the school and teach regularly.
(4) Mr.'D’ shares his lunch with every teacher.

= faepl 4 9 $F 1 or=1 Agasid €2
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@) T s foar & WY S HISH |3 ERA @

Options:-

.1, Option ID :- 321,

« 2, Option ID :- 322,

« 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82



Which one of the following is a reflective teacher ?

(1)  Mrs. P never discusses her personal issues with her students.

(2) Mrs. Q discusses many of her personal issues as examples to mould students’ behaviour.
(3) Mrs. Ris fond of sharing anecdote from her D.ELEd. course.

(4) Mrs. R constantly asks students to look at their parents’ tough life and advices them to study
properly.

= § 9 1 w1 v et (Reifeea) faes 2

(1) 9@ ‘v’ Fsf o faenfef=i o T 397 =1fwaa 4ga) S =4 981 Sl
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(4) oA o’ A fTaafael s AR 3% Sifieras! F T faht 1 saren S 3 9% F ugA i
HelTg <l W&l § |

Options:-

«1, Option ID :- 325,

« 2, Option ID :- 326,

« 3, Option ID :- 327,

« 4, Option ID :- 328,

Answer Given:- 2, Option ID : -326

Question ID:- 83

Which one of the following teachers is able to get temporary success in changing students’
behaviour ?

(1) One who is very strict in his/her class.

) One who allows students to do whatever they like.

(3) One who discusses the pros and cons of unwanted behaviour of students.
) One whois punctu | and speaks to the point in every class.

= 5 4, F19 @ e 3197 o % =raer § st uftadt o ¥ 9o w2
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Options:-

«1, Option ID :- 329,

« 2, Option ID :- 330,

« 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84



The errant behaviour of students can best be transformed by

(1) Kkeeping a constant vigil on their activities.

(2) constantly making them aware of strict rules of the schools.
(3) constantly making them read books on moral values.

(4) having a continuous one to one open dialogue with them.

ferenfelei % Jfeqel a1 fohe g <l o1 Ghal &2
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(4) 3 T1Y Had ¥U Q Th-Tah H{ et 991 R &

Options:-

«1, Option ID :- 333,

« 2, Option ID :- 334,

« 3, Option ID :- 335,

« 4, Option ID :- 336,

Answer Given:- 4, Option ID : -336

Question ID:- 85

Four primary school teachers have set their goals as follows. Who would you appreciate the
most ?

(1) Mr. Murli ensures cent percent attendance in class before starting teaching.

(2)  Mr. Murugan, before starting teaching ensures that all students are sitting omfortably.
(3)  Mrs. Dua ensures that all students come in proper schoel uniform in her class.

(4) Mrs. Mohanty ensures that all her students have come with their text books.

U WAfHF Tpe & A A 997 T8 19 fa@ wv d fuifa fee € o fey waifus vas :61?
(1) & geit 9gH | veet wa-wiiea Iuferfa giafega @ € )
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Options:-

.1, Option ID :- 337,

« 2, Option ID :- 338,

« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86



Who should be consulted the most for developing a school plan ?
(I) The Headmaster

(2) The school management committee

(3) The staff members

(4) The students

T el 1 A9 fashfaa F3 2q fhas) Hems o+t 91fge ?
(1) vHrIEATIsh
(2) %hd yeuA gfEfd
(3) T % W 43H
(4) =i B
Options:-
.1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

« 4, Option ID :- 344,
Answer Given:- 4, Option ID : -344

Question ID:- 87

Why Mrs.Banerjee, the primary school teacher failed in implementing schoel annual calendar ?
Choose the best option for school progress

(1) There were too many holidays in the ear.

(2)  All other teachers were angry with him.
(8) Sheignored the instructions o head master and school management committee
(4) She lost her grandmother this year.

Siadt sei (T Werfigen Whdt fierh) whet o i shol-s¥ bl o 3 § Fi 99%a T ?
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(1) od ¥ wga = gigai oft )

(2) |ef Forereh 79 @Igd A0S 9
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Options:-

«1, Option ID :- 345,

« 2, Option ID :- 346,

« 3, Option ID :- 347,

« 4, Option ID :- 348,

Answer Given:- 3, Option ID : -347

Question ID:- 88



Which forum will you look for strengthening teaching learning process in your school ?
(I) Monthly in Service Training Workshops

(2) Teaching Staff Association

(3) Nearby Teacher Education College

(4) Parent Teacher Association

3791 Tt § faero ¥ferm wfrn 1 g_e 9914 'g @9 fohw H9 Y wEwar o ?
(1) ¥ fasw daEcAT vfago sHersnend

(2) T ufewg

(3) TAe =1 o o meifaziaE

4 Hfywas s qfafq

Options:-

«1, Option ID :- 349,

« 2, Option ID :- 350,

« 3, Option ID :- 351,

« 4, Option ID :- 352,

Answer Given:- 1, Option ID : -349
Question ID:- 89

The book ‘Diva Swapna’ is to be read by all students of the school. Which mode you think will be
the best ?

(1) Each class teacher asks one of the stu ents to read it to all
(2) Each student is given one copy and a ked to read it in one week.
(3)

(4) Read the book (5 pages each day) aloud in the morning assembly.

Each student is asked to go to the library in free period and read it.

‘feat @' s Whel & G BEl GR U ST § 1 ST UK i T qH Faray g ?
(1) TAF HE H S e UH o1F H G [T 1@ H FaM |
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Options:-

«1, Option ID :- 353,

« 2, Option ID :- 354,

« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90



Two primary schools are being run in the same building. The best mode of coordination among
them can be :

(1) Both schools have one common headmaster.

(2) In case a teacher doe not come in one cla s, the other school teacher comes and take the
class.

(3) Both schools prepare varied mid day meal each day and share it.
(4) B th schools share their teaching learning material.

T g1 fafedn 1 € e 9 W1 39 SH1 B 9H9d 1 Farad alieh 31 Gl 5 2
(1) S Sl H1 TH & FUH FEIH W |

(2) T FaH A FE e T N0 A gH T w1 e o wa § ge
(3) I wpd A faferm Ao sl sAME SR aren +L

(4) 2 T g I T @ e )

Options:-

«1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Subject : PE_Q91-Q100_PRT28FEBSH1
Question ID:- 91

Which one of the following school activities have been able to achieve the objective of inclusive
education ?

(1) Sarva Shiksha Abhiyan

(2) Mid Day Meal by sitting together

(3) SC - ST recruitment special drive

(4) Obeying all orders from higher authorities

qorafy foen & Ry A @ @ § 9 § § FH-10 wped) Tafafial aam @ 2
(1) wdfoan siaE

(2) WY-HY FSH HAR M HET

(3) gfad Sifd iR sAsfa o wdt e

(4) 3= AfumifE & i IR &1 IEH

Options:-

«1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362



Question ID:- 92

The term ECCE stands for

(1) Early Childhood Care and Education
(2) Early Child Care and Edu -ation

(3) Evaluation of Child Care Education
(4) Education of Child Care Enrichment

3.4l W, 3 (ECCE) & & qof &9 ¢ :
(1) el A3eege FI YW THHIA
(2) el AFTS FW TUE TFHIA

(3) IAYUIA ATH IZeS HR TIHIA
(4) THHIA HE =FEee F GREHe

Options:-

«1, Option ID :- 365,

« 2, Option ID :- 366,

« 3, Option ID :- 367,

« 4, Option ID :- 368,

Answer Given:- 1, Option ID : -365

Question ID:- 93

Which one of the following forms the foundati n of learning of children upto 8 years of age ?
(1) Profidiency in language

(2) Proficiency in elementary maths

(3) Basic literacy and numeracy

(4) Basic leamning of social environment

1S Y T & oiicTehl o IRTE # gfAug = § F A S §2
(1) o qradn

(2) urfys Afvrd | qdaar

(3) FFAR WA R AT

(4) M gEERw F ghad sfem

Options:-

.1, Option ID :- 369,

« 2, Option ID :- 370,

« 3, Option ID :- 371,

« 4, Option ID :- 372,

Answer Given:- 1, Option ID : -369

Question ID:- 94



The idea of integrated learning implies that :

(1) Subject based teachers not to teach in primary classes

(2) The topi on ‘Water’ be taught from all angles : language, science, social science and maths
(3) Physics and chemistry should not be taught as seperate subjects

(4) Recruitment of teachers with specializations should be avoided

ThiFa Afenm # faur @ qerd § fw

(1) wrafas wansdl | favg snaid foase 9 gem

(2) ‘S’ SR e g wn G ggrm S 9w foge, sus faqm qun i
(3) ffai SR WWEA 9 H S-S 7 W@ |
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Options:-

.1, Option ID :- 373,

« 2, Option ID :- 374,

« 3, Option ID :- 375,

« 4, Option ID :- 376,

Answer Given:- 2, Option ID : -374
Question ID:- 95

One good guiding principle of ensuring hild rights can be :
(1) Treat child as God, teacher as worshipper and Teaching learning material as worshipping

style.
(2) Treat children of all social background as equal.

3) Child is the father of man.
(4) The behaviour of each ~ ° d can be moulded.

—_
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Options:-

.1, Option ID :- 377,

« 2, Option ID :- 378,

« 3, Option ID :- 379,

« 4, Option ID :- 380,

Answer Given:- 2, Option ID : -378

Question ID:- 96



One best way to effectively teach children of lower secial economic background can be

(D)
(2
3)
(4)

Appoint all teachers from low socio-economic background only.
Make such children aware of their rights.

Treat them as per democratic and constitutional provisions.
Give such children scholarship and other benefits.

fr gfee syfele gy & =31 &1 uawEt €01 & g ST &1 U JardH dlehl FI1 8 Tohdl ¢ ?

Fad A= wEfas it gyt 9 9F Tl #1 € e g w31
T a=l H I USRI F TR H TId HU |
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Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
« 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 3, Option ID : -383

Question ID:- 97

The idea of Operation Back Board (OBB) was given by :

(D
(2)
3
(4)

NEP - 2020

NPE - 1986

Kothari Commission
Mudaliar Commission

ATYEA &4 9IS (OBB) o1 foar faga fem ?

(1)
(2)
(3)
(4)

NEP - 2020
NPE - 1986

ISR AEmT
qelfemy anam

Options:-

«1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 2, Option ID : -386

Question ID:- 98



The idea of Shikshak Mitra got inspiration from whom ?

(1) NEP - 2020

(2) NPE - 1986

(3) Acharya Ram Murti Committee
(4) Yashpal Comumittee

forerss iyt < fa=r =1 forad wron figed) ?
(I) NEP - 2020

(2) NPE-1986

(3) a1 Hfd F#8

(4) TIIA HH
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
« 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

The latest idea of curriculum is that :

(1)
(2)
3
(4)

Cwriculum includes academic, co-curricular and extra curricular activities
Curriculum excludes extra curricular activities

Curriculum exclude both co-curri ular and extra curricular activides
Curriculum excludes external examinations

ISl & AdiAaq faar = 82

(1)
(2)
(3)
(4)
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Options:-

«1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100



At primary school stage learning, least emphasis can be given to :
(1) Attitude building

(2) Psychomotor activities

(3) Rote memory

(4) Knowledge

wfTs Spelt M W R TS w9 5@ fry W fea o e €2

(1) fygfa fmm

(2) 9w nfafafuar
(3) LWIdm

(4)
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 3, Option ID : -399

Subject : HINDI_Q101-Q120_PRT28FEBSH1

Question ID:- 101

Freafafaa TareT &Y gt 30 a7 STUIRE U9 @ 39 ST
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(4) S99

Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
« 3, Option ID :- 403,
« 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102
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() <¥
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Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
« 3, Option ID :- 407,
« 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

Freafafaa Tarer &Y gt 30 9T Ui U9 & 3w St

F& ) Wit & faw o= 8 g & sifafiaa o fordt fadiaa &6t smen 781 | WX o7Hikd &5 08 el & g@
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(1) H&

(2) AIE
(3)
(4 &Y
Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

« 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104
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&N i Wifta o fou i 4 5@ o sifdfiaa oi foradt fasioar &1 atdan 781 | W iR 39 03 sedt & 9@
T QEH BT § St AN T FHR Gk A1 HelEl g1 33T 3Td Hw, yda[ A1 IEar 33 R0 GHS H
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FepmehT 37em ATg AET Tl T § 2
(1) Tt sigas

(2) H@ ! | =

(3) Tt off R

(4) TEA =1 gE @R e I 3R
Options:-

«1, Option ID :- 413,

« 2, Option ID :- 414,

« 3, Option ID :- 415,

« 4, Option ID :- 416,

Answer Given:- 4, Option ID : -416

Question ID:- 105
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Fepwahl e 1 g a71fe ATl [ YR Sl @ 2
(1) Tt g 1 <o

(2) To&t & Fw R

(3) GHY % 3@ % IRIM I Y gE@ H
(4) 39 A F

Options:-

«1, Option ID :- 417,
« 2, Option ID :- 418,
« 3, Option ID :- 419,
« 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106



REMNCEORCREICIE LR

(1) Ut

(2 Hd

(3) T4

(4) ATHSA
Options:-

«1, Option ID :- 421,
« 2, Option ID :- 422,
« 3, Option ID :- 423,

« 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107
L e SR B
(1) =HHYRE GHE #

(2) TYEY GHIE H

(3) gdlls TEH o

(4) g wHE w
Options:-

«1, Option ID :- 425,
« 2, Option ID :- 426,
« 3, Option ID :- 427,
« 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

frefeifad -l § qeqy-dgya 1 e g

(1) 37Hm - 314
(2) A - &M
(3) 3% - 3TH

(4) ST - FHA
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
« 3, Option ID :- 431,
« 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109



frafafaa § faamedl s =i § ardma §
(1) SYHR - qUYHR

(2) ZJeAE - 9dq

(3) wie - aRts

(4) cfifps - 3cifpa
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,
« 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

fadiom @ Ha1 o § 37T T
(1) e - e

(2) TG - TS

(3) 3MHR - 3

(4) e - G

Options:-

«1, Option ID :- 437,
« 2, Option ID :- 438,
« 3, Option ID :- 439,
« 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

frefafad 3§ @ gfy aren =g 78 @
(1) i

(2) HAR

(3) e

(4) =areA
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,
« 4, Option ID :- 444,
Answer Given:- 2, Option ID : -442

Question ID:- 112
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(1) <A HTEAT

(2) @ fafg &=
(3) =M@

(4) I3 U3 JUE HA
Options:-

«1, Option ID :- 445,
« 2, Option ID :- 446,
« 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

frafafad 9 9 &9 € =3 s faan 1 €
(1) Tud =1 3w

(2) B FAFRR

(3) U A Y w=dl

(4) af@ dftwnfe

Options:-

.1, Option ID :- 449,

« 2, Option ID :- 450,

« 3, Option ID :- 451,

« 4, Option ID :- 452,

Answer Given:- 3, Option ID : -451

Question ID:- 114
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(1) Fe=

(2) B S
(3) 3E)

(4) AR
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,
« 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115
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(1) HHa1 vgHl
(2) WA

(3) R HA T
(4) PR
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
« 3, Option ID :- 459,
« 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

‘e w1 fed™ ' & 3NUR YT warsy, fah T fhdl o o <1 N A S =ear A ?

(1) 3% T9 &9 8 o

(2) 3T g1 =< B A i |
(3) =@ AT e

(4) @@ won fadeft o

Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,
« 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

(1) ¥
(2 Y= fom
(3) muE.fauE
(4) FAR gFT
Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
« 3, Option ID :- 467,
« 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118



Feig fa<l 4 ¥R foham 9 1 o rm °1?

(1) ™
(2) o
(3) o9
(4) =
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
« 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

‘379 S qH, Sd @rel,

3iR gare |0 el

HEh AR Tl et

T -Gl fohd T F off 74 ¥ 2
(1) faaeh o) el

(2) ogd gl

(3) 9w

(4) @

Options:-

«1, Option ID :- 473,

« 2, Option ID :- 474,

« 3, Option ID :- 475,

« 4, Option ID :- 476,

Answer Given:- 1, Option ID : -473

Question ID:- 120

‘OO ford™ ' & HR W 99y, fh B 3 o= 9% &1 fhae € 91 98 99U WS 751 g2 T ?

(1) fars i€ o

(2) Tawrara 73 i

(3) fwae 9l oA

(4) forde il off
Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
« 3, Option ID :- 479,



« 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Subject : ENGLISH_Q121-Q140_PRT28FEBSH1
Question ID:- 121

Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali’s household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza's household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. ‘The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he’d be utterly useless to God or man, at
home or in the world! It’s a dreadful sickness,that’s what chess is’. Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely te appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He's asked for paan, has he ? Well, tell him to come and get
it himself! “He hasn’t got time for his dinner ? Then go and dump it on his head; he can eat it or
give it to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as ‘Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to excuse himself.

Which game is the narrator talking about ?

(1) Cards

(2) Billiards

(3) Chess

(4) Carrom
Options:-

«1, Option ID :- 481,
« 2, Option ID :- 482,
« 3, Option ID :- 483,
« 4, Option ID :- 484,

Question ID:- 122



Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali’s household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza's household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. ‘The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he’d be utterly useless to God or man, at
home or in the world! It’s a dreadful sickness,that’s what chess is’. Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely to appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He’s asked for paan, has he ? Well, tell him to come and get
it himself! ‘He hasn’t got time for his dinner ? Then go and dump it on his head; he can eat it or
giveit to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as ‘Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to excuse himself.

What was the response of Mirza Sajjad Ali’s family to his addiction to the game ?
(1) They hated it.

(2) They were indifferent to it.
(3) They welcomed it.
(4) They admired it.

Options:-

«1, Option ID :- 485,
« 2, Option ID :- 486,
« 3, Option ID :- 487,

« 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123

Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali's household, there was no elder, so the game took place in his drawing
room. But this is not to s  that the other people of Mirza's household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. ‘The game is ill-omened! It's destroying the family.
Heaven forbid th it anybody should become addicted to it, he’d be utterly useless to God or man, at
home or in the world! It’s a dreadful sickness,that’s what chess is". Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely te appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He’s asked for paan, has he ? Well, tell him to come and get
it himself! “He hasn’t got time for his dinner ? Then go and dump it on his head; he can eat it or
giveit to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as ‘Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to xcuse himself.

Who was being blamed for Mirza's addiction ?
(1) Beghum Sahiba

(2) The neighbours

(3) The servants

(4) Mirza’s friend Mir Roshan Ali



Options:-

«1, Option ID :- 489,

« 2, Option ID :- 490,

« 3, Option ID :- 491,

« 4, Option ID :- 492,

Answer Given:- 4, Option ID : -492
Question ID:- 124

Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali’s household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza's household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. ‘The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he’d be utterly useless to God or man, at
home or in the world! It’s a dreadful sickness,that’s what chess is’. Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold hin. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely to appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He’s asked for paan, has he ? Well, tell him to come and get
it himself! ‘He hasn’t got time for his dinner ? Then go and dump it on his head; he can eat it or
give it to the dogs!” But to his face she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as ‘Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to xcuse himself.

What do you mean by the expression ‘ill-omened’ ?
(I) Likely to bring good times

(2) Likely to bring disaster

(3) A superstitious belief

(4) A fortunate period

Options:-

«1, Option ID :- 493,

« 2, Option ID :- 494,

« 3, Option ID :- 495,

« 4, Option ID :- 496,

Answer Given:- 2, Option ID : -494

Question ID:- 125



Read the passage given below and answer the question that follow :

In Mirza Sajjad Ali’s household, there was no elder, so the game took place in his drawing
room. But this is not to say that the other people of Mirza’s household were happy with these
goings-on. And not only the members of his household but the neighbours and even the servants
were constantly making malicious comments. “The game is ill-omened! It's destroying the family.
Heaven forbid that anybody should become addicted to it, he’d be utterly useless to God or man, at
heme or in the world! It' a dreadful sickness,that’s what che s is’. Even Mirza's wife, the Beghum
Sahiba, hated it so much that she sought every possible occasion to scold him. But she hardly ever
found the chance, for the game would have begun before she woke up and in the evening Mirzaji
would be likely to appear in the bedroom only after she had gone to sleep. But the servants of
course felt the full force of her rage. ‘He’s asked for paan, has he ? Well, tell him to come and get
it himself! ‘He hasn’t got ime for his dinner ? Then go and dump it on his head; he can eat it or
give it to the dogs! But to his fa e she could not say anything at all. She was not so angry with him
as with Mir Roshan Ali (Mir Sahib), whom she referred to as ‘Mir the Troublemaker’. Possibly it
was Mirzaji who laid all the blame on Mir in order to excuse himself.

What impression do you get of the Nawabs and other rulers from the passage ?
(1) They were lazy and spineless.

(2) They ruled the State in a just manner.

(3) They respected the wishes of the people.

(4) They were admirers of the British Raj.

Options:-

.1, Option ID :- 497,

« 2, Option ID :- 498,

« 3, Option ID :- 499,

« 4, Option ID :- 500,

Answer Given:- 1, Option ID : -497

Question ID:- 126

Rearrange the parts in correct order to make meaningful sentence.

(a) that English is

(b) itis widely agreed

(c) aforeign lan 1age in India
(d) no longer

(1) (@), (b), () @)

(2 (b) (@), (), (9)

(3 (9 (@) (@) (b)

(4 (d) () () (a)
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,
« 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127



Rearrange the parts in correct order to make meaningful sentence.
(a) most popular play in India

(b) the writer's

() has always been

(d) Shakespeare’s “The Merchant of Venice’

(1) (a), (b), (c), (d)

(2)  (b). (0)., (d), (a)

(3)  (d) (c), (b), (a)

(4) (o) (d), (b), (a)
Options:-

«1, Option ID :- 505,

« 2, Option ID :- 506,

« 3, Option ID :- 507,

« 4, Option ID :- 508,

Answer Given:- 3, Option ID : -507
Question ID:- 128

Fill in the blank with correct preposition.

Have trust God and you will feel happy and contented.
(1) for

(2) with

(3) in

(4) by

Options:-

«1, Option ID :- 509,

« 2, Option ID :- 510,

« 3, Option ID :- 511,

« 4, Option ID :- 512,

Answer Given:- 3, Option ID : -511
Question ID:- 129

Fill in the blank with correct preposition.

The film star has been dining ___five-star hotels only.
(1) in

(2) at

(3) with

(4) for
Options:-

«1, Option ID :- 513,
« 2, Option ID :- 514,
« 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 2, Option ID : -514



Question ID:- 130

Identify the correct tense form of the underlined part in the given sentence.

The officer will be on tour for a fortnight.

)  Future Perfect Tense
)  Simple Future Tense

3) Future Continuous
)

Simple Present Tense

Options:-

.1, Option ID :- 517,

« 2, Option ID :- 518,

« 3, Option ID :- 519,

« 4, Option ID :- 520,

Answer Given:- 2, Option ID : -518
Question ID:- 131

Identify the correct tense form of the underlined part in the given sentence.
In their journey by car, they haveleft the city far behind.

(1)

(2) Past Perfect Tense
3
(

4)  Present Tense

Past Tense

Present Perfect Tense

~—

Options:-

.1, Option ID :- 521,

« 2, Option ID :- 522,

« 3, Option ID :- 523,

« 4, Option ID :- 524,

Answer Given:- 3, Option ID : -523
Question ID:- 132

Identify the part which contains an error.
Spring is / the best season / te explored / new cities and locals

ey (2) (3) (4)

Options:-

«1, Option ID :- 525,

« 2, Option ID :- 526,

« 3, Option ID :- 527,

« 4, Option ID :- 528,

Answer Given:- 3, Option ID : -527
Question ID:- 133

Identify the part which ontains an error.
The vocalist / is endowed of / a lot of / talent.

(1) (2) (3) (4)



Options:-

«1, Option ID :- 529,

« 2, Option ID :- 530,

« 3, Option ID :- 531,

« 4, Option ID :- 532,

Answer Given:- 2, Option ID : -530
Question ID:- 134

Choose the word nearest in meaning to the given word :
HOSTILITY

(1)  Quarrel

(2) Hospitality

(3) Jealousy

(4) Resentment

Options:-

«1, Option ID :- 533,

« 2, Option ID :- 534,

« 3, Option ID :- 535,

« 4, Option ID :- 536,

Answer Given:- 4, Option ID : -536
Question ID:- 135

Choose the word nearest in meaning to the given word :
ELOQUENT
(1) Articulate
(2) Talkative
(3) Foolish
(4) Extrovert
Options:-
«1, Option ID :- 537,
« 2, Option ID :- 538,
« 3, Option ID :- 539,
« 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537
Question ID:- 136

Choose the words opposite in meaning to the given words.
DESPAIR

(1) Aggression

(2) Hope

(3) Happiness

(4) Excitement

Options:-
.1, Option ID :- 541,
« 2, Option ID :- 542,



« 3, Option ID :- 543,

« 4, Option ID :- 544,

Answer Given:- 2, Option ID : -542
Question ID:- 137

Choose the words opposite in meaning to the given words.
STATIONARY

(1) Fast

(2) Frozen

(3) Moving

(4) Swinging

Options:-

«1, Option ID :- 545,

« 2, Option ID :- 546,

« 3, Option ID :- 547,

« 4, Option ID :- 548,

Answer Given:- 3, Option ID : -547
Question ID:- 138

Identify the part of speech of the underlined word.

The Sharmas lived in Delhi earlier, but now they are living in Mumbai.

(1) Noun

(2) Verb

(3) Pronoun

(4) Adjective
Options:-

.1, Option ID :- 549,

« 2, Option ID :- 550,

« 3, Option ID :- 551,

« 4, Option ID :- 552,

Answer Given:- 2, Option ID : -550
Question ID:- 139

Change the following senterv e from Active Voice to Passive Veice.
The lion is chasing the deer.

(1) The deer has been chased by the lion.

(2) The lion is being chased by the deer.

(3) Thedeeri being chased by the lion.

(4) The deer is chased by the lion.

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
- 3, Option ID :- 555,



« 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140

Identify the clause of the underlined part of the sentence :
We all admire a politician who is honest.

(1)  Noun Clause

(2) Adjective Clause
(3) Adverb Clause
(4) Principal Clause

Options:-

«1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 4, Option ID : -560

Subject : MATHS_Q141-Q160_PRT28FEBSH1

Question ID:- 141

The difference between the largest and the smallest 5-digit numbers made of digits 2, 3, 5, 0 and

9.
(1) 75071
(2) 74961
(3) 89999
(4) 92961

i 2,3,5,0 3R 9 { &1 5 =i H! 91 9 7! 9 BN H DI HEA F1 W ¢

(1) 75071
(2) 74961
(3) 89999
(4) 92961
Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
« 3, Option ID :- 563,
« 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142



The digit at units place in the product of first ten prime number is :

(1) o
2 2
3 3
4 5

T TH UMY @S Sl U FH W YT H&H H §HTE F U W 3 W
M 0o

2 2
3) 3
4 5
Options:-

«1, Option ID :- 565,
« 2, Option ID :- 566,
« 3, Option ID :- 567,
« 4, Option ID :- 568,
Answer Given:- 1, Option ID : -565

Question ID:- 143

Which one of the following statement is not corre: t ?

(1)  All prime numbers are odd.

(2) Product of two odd numbers is always odd.

(3) The product of a number and its reci rocal is always 1.
(4) Sum of two odd numbers is always even.

A3 g o oA e W1 98 %

(1) | 9" gEAW fauy €1

2) @ faum denell @ AR gaq faum @ )

(3) ford GEm don 3wk FToRH W UK §AG 1 A1 3 |
(4) 2 foum demei #1 dm 93 ¥ da ¥

Options:-

.1, Option ID :- 569,

« 2, Option ID :- 570,

« 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144



Three bells start ringing after interval of 20 minutes, 25 minutes and 40 minutes. They ring
stimultaneously at 8 : 00 am. They will ring simultaneously again at :

(1) 9:00 am

(2) 10:00 am
(3) 11:20am
(4) 12:20 pm

A wifea 20 fide, 25 2 it 40 fe & icte § a9l § 1 T WM 9% 8 59 Ui S 8 | $HF U¥EIq
% Th Y TS
() 09:00am
(2) 10:00 am

(3 11:20am
(4) 12:20 pm
Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
« 3, Option ID :- 575,
« 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

Write the largest 5 digit number which when divided by 469 leaves 3 as remainder :

(1) 99999

(2) 99900

(3) 99897

(4) 99800

5 37 ® 9 9 9 qem faE faas) 469 | 9rt 4 T3 99 w1 ¥
(1) 99999

(2) 99900

(3) 99897

(4) 99800
Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,
« 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146



From a four digit number, a number formed by reversing the digits is subtracted. The new number
is always divisible by

1 2
2 5
3) 7
4) o

Tsh IR 37 aTell G 5 1, 39 faudd %9 9 foig o wra §&n &1 9 fem 7w ) 748 v g fag gen
q W@"‘ﬁﬁ%%

(1
(2
3
(4

NN LN

)
)
)
)

Options:-

.1, Option ID :- 581,

« 2, Option ID :- 582,

« 3, Option ID :- 583,

« 4, Option ID :- 584,

Answer Given:- 4, Option ID : -584

Question ID:- 147

Read the pattern carefully and write the ne t two terms :
2,5,10, 17, 26, 37, _, .

(1) 50, 65

(2) 48, 60

(3) 55, 63

(4) 50, 63

=1 Y2 =1 o B8 9 el 2 ve ford
2,5,10,17,26,37, _, __
(1) 50, 65

(2) 48, 60

(3) 55,63

(4) 50, 63

Options:-

«1, Option ID :- 585,
« 2, Option ID :- 586,
« 3, Option ID :- 587,
« 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

Question ID:- 148



The amount of milk which an be stored in a cube of edge 2 m is :

(1) 1000 litres
(2) 2000 litres
(3) 4000 litres
(4) 8000 litres

2HREAHR & A H g9 & 7 (et ) T =R A N FFA L, /e -

(1) 1000 faX
(2) 2000 fax
(3) 4000 ferex
(4) 8000 fefex
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
« 3, Option ID :- 591,
« 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149

On simplification,
1-2+3-4+5-6+7-8+

(1) 54
(2) 55
(3) 56
(4) 60

1-2+3-4+5-6+7-8+___

(1) 54
2) 55
(3) 56
(4) 60

Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
« 3, Option ID :- 595,
« 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

+111, we get :

- +111, & WA HH W I ol &



A bottle has 8.25 litres of medicines. Itis t be filled in bottles of capacity 75 ml. The number of
small bottles which can be filled is :

1) 11
(2 110
(3) 125
(4) 1100

T idd B 825 fefex gard €138 75 ml FHd1 aTeht sidadl § 90 o1 &1 98 T S1d) |iddl #1 9en §

(1) 11
(2) 110
(3) 125
(4) 1100
Options:-

«1, Option ID :- 597,
« 2, Option ID :- 598,
« 3, Option ID :- 599,
« 4, Option ID :- 600,
Answer Given:- 2, Option ID : -598

Question ID:- 151

Dimensions of a cubical shape room are incr ase by 10%. What % increase will be there in its
floor area :

(1) 10%
(2) 20%
3) 21%
(4) 40%

Tsh ¥ ATHR 2 HHL H! faqd 10 % g1 <1 STl & | 39 B b AF%a § fohas wiaed 1 gfg & s ?

(1) 10%
(2) 20%
(3) 21%
(4) 40%
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
« 3, Option ID :- 603,
« 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152



25 kg 5g in decimal can be written as

(1) 255 kg

(2) 25.05 kg

(3) 25.005 kg

(4) 255.00 kg

25 fahedl 5 ) I gvHad W foar s g=har §
(1) 255 foelt y™

(2) 25.05 fwar oW

(3) 25.005 fReh T

(4)  255.00 foretl omH
Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
« 3, Option ID :- 607,
« 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

The length of a rectangular hall is twice of its breadth. If the «rea of the hall is 338 sq. metre, then
its perimeter is

(1) 39m
(2) 78 m
(3 845m
(4) % m

Ush HAFATFHR Bl T @als S9! 9IS il gl ¢ | AfG gfd o1 &% 338 & Hiet §, a1 S9! iE™
2

(1) 39 HiR
(2) 78 HiX
(3) 845 HIA
(4) 96 "X
Options:-

«1, Option ID :- 609,
« 2, Option ID :- 610,
« 3, Option ID :- 611,
« 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154



I go to my school which is 5 km away from my home at a speed of 10 km/h and return home at the
speed of 15 km/h. What is my average speed ?

(1) 12 km/h
(2) 125 km/h
(3) 14 km/h
4) 15 km/h

F o4 faare, St AU A 5 km # g0 W E, 10 kmy/h F1 7fd S § 9901 15 kn/h Y 1fa @ arfig
R A0 sfgd nfa &

(1) 12 km/h

( 12.5 km/h

(3) 14 km/h

(4) 15 km/h
Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
« 3, Option ID :- 615,
« 4, Option ID :- 616,
Answer Given:- 1, Option ID : -613

Question ID:- 155

In the following table two columns are given. Match column A with column B.

Column A Column B

(a) Acute angle @ 90°

(b) Obtuse angle (i) 240°

(c) Right angle (i) 30°

(d) Reflex angle (iv) 120°

D (a)-(i), (1") (l) (C) (iv), (d)-(i1)

2)  (a)-(iii), (b)-(iv), (c)-(id), (d)-(i)

(3)  (a)-(ii), (b IV) (©)-(0), (d)-(id)

4)  (@)-(ii), (b)-(i), (c)-(ii), (d)-(iv)



fe1 aiferam § € w1 feu 0 § | WY A 1 @Y B ¥ foem Fifsu .

=Y A WY B
() =L M 90°
(b) 3 = (i) 240°
(c) FHHIW (iii) 30°
(d) gfgadi s (iv) 120°
(1) (@) - (i), (b) - (i), () - (iv), (d) - (i)
(2) (@) - (i), (b) - (iv), () - (iD), (d) - ()
(3) (@) - (i), (b) - @v), (¢) - (@), (d) - (id)
4)  (a)- (), (b) - (1), () - (1), (d) - (iv)
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
« 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156

In a school 7 of the students are boys and the rest are girls. If there are 450 girls in the school. The

total strength of the school is

(1) 790
(2) 900
(3) 1000
(4) 1050

s faaica ¥ faanfeln &1 4/7 9m deh & qw dy wm aefwal o %) afe asfea 1 9@ 450 ®, @

ferariera & et el 1 gem
(1) 790
(2) 900
(3 1000
(4) 1050
Options:-

«1, Option ID :- 621,
« 2, Option ID :- 622,
« 3, Option ID :- 623,
« 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157



A florist purchased 12 bunches of 15 flowers each for ¥ 540 and sold a flower for ¥ 5 each. His
profit is

(1) T 540
) %600
(3) T 460
4) T 360

T Fel aret A 15-15 Al ared, 12 T8 el &l T 540 H @Q1 1 3901 5 Wedsh FA o feama 4 oh faam)
TR AT

(1) T 540
(2) T 600
(3) T 460
(4) T 360
Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
« 3, Option ID :- 627,
« 4, Option ID :- 628,
Answer Given:- 4, Option ID : -628

Question ID:- 158

The number of bricks, which will be required to make a wall which is 8m long, 6m high and
225 em thick if each brick measures 25 cm x 11.25 cm X 6 cm 1S :

(1) 6200
(2) 6300
(3) 6400
(4) 6500

8m &sl, 6m F91 3R 22,5 em A€ TR a1 & AU, 25 cm x 11.25 cm x 6 cm 59 aTeft foat £ &t
SAEYIHA &P 98 ©

(1) 6200
(2) 6300
(3) 6400
(4) 6500

Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,
« 4, Option ID :- 632,
Answer Given:- 3, Option ID : -631

Question ID:- 159



The number of triangles in the adjacent figure is

(1) 8
(2) 12
(3) 14
(4) 16
(1) 8
(2) 12
(3) 14
(4) 16

Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
« 3, Option ID :- 635,
« 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question ID:- 160

In going uphill it takes 2 hours 35 minutes. In coming down it takes 1 hour 25 minutes. I take rest
in between for 15 minutes. When should I start, if | am to be back at the starting point by 2 PM ?

(1) 8:30 AM
(2) 9:30 AM
(3) 9:45 AM
(4) 10:45 AM



TgIEl % FW A H 2 = 35 fie o 1 A 3q | 1 " 25 fae o €18 d= H 15 faqe & fasm
H ) Al 4P AU 2 91 T AFTH TEIAN 7 1 42 Fohdd o9t S0 T 3T HTT 8 2

(1) 08:30 AM

(2) 09:30 AM

(3) 09:45 AM

(4) 10:45 AM

Options:-

«1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Subject : EVS_Q161-Q180_PRT28FEBSH1
Question ID:- 161

Given below are two statements. One of them is labeled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below.

Assertion (A) : Never sleep in a room with burning or smouldering coal fire in it.

Reason (R) : Incomplete ombustion lead to production f Carbon Monoxide gas, which may
lead to death of people sleeping in the room.

(1) (A) and (R) both are brue and (R) is the corre t ex )lanation of (A).
(2) (A) and (R) both are true but (R) is not the orrect explanation ef (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

1 Q a7 feg o § | v i tfuae (A) 3R SR I HROT (R) &1 0 % 1 9 fEU U e 1w
H TE IW & FTA &

afvRe (A) : 3 R H W T G I Sed a1 g e A SAE R

&N (R) : A 1 AP TTH, FeA HASTFIES T ¢l 3TH) @l 8, o s d @i w
Al 1 gy ot & apdl 81

(1) (A) 3R (R) S & & AR (R), (A) F T 1N @1 T

(2)  (A) 3 (R) IFI W& §, 9T (R), (A) Tl TET ATST & HAl 8
(3) (A) T %, T (R) Told 2 |

(4) (A) T9d 2, W (R) GH & |

Options:-

.1, Option ID :- 641,

« 2, Option ID :- 642,

« 3, Option ID :- 643,

« 4, Option ID :- 644,

Answer Given:- 1, Option ID : -641

Question ID:- 162



Match the following

Column 1 Column II
(a) Polythene (i) Thermosetting Plastic
(b) Melamine (i) Thermoplastic
(c) Polyester (iii) Polyethyleneterephthalate
(d) Nylon (iv) Ropes for rock climbing
(1) (@) -().(b) -(), (c)-(iit), (d)-(iv)
(2)  (a) -(i),(b) -(i), (¢)-(ii), (d)-(iv)
(3) (@) ~(iv),(b) (i), (c)-(ii), (d)-()
(4) (@) -(@),(b) -(iv), ()~(i1), (d)-(iii)
Fefafad = fiaem
He™ - | Fe - 11
(a) it () oERfiT @fes
(b) HEAHEA (i) gdi@fs
(c) difawex (iii) i Sy
(d) EAH (iv) =eEH R =g %1 v i
(1) @) -G), (1) -G), (©)-(ii), (d)-(iv)
@) (&) (i), (b) (i), (0)-(iii), (@)-(iv)
(3) (@) -Giv), (b) ~Gii), (i), (d)-()
(4) (@) -G), (b) -(v), (c)-(ii), (d)-Gii)

Options:-

«1, Option ID :- 645,

« 2, Option ID :- 646,

« 3, Option ID :- 647,

« 4, Option ID :- 648,

Answer Given:- 2, Option ID : -646

Question ID:- 163

Method of making milk free from micreorganisms is called Pasteurisation because
(1) It was invented in Prussia Country.

(2) TPasteurisation word has been taken from Persian language.

(3) This method was discovered by Braille Pasteur.

(4) This method was discovered by Leuis Pasteur.



34 S Qaeiial § Ga e Y WERAT 1 eSS HEl o4 8, T
) 39 ufa w1 afashr wen <O H g1 o)

) uTeHiEm veg WIYEA (WRE) W Y fm w an

3) 39 ufha &t @ 9 qiveR A fohan an)

(4) 39 viFHa & @ g3 SR A R o)

—~
—

2

P

Options:-

.1, Option ID :- 649,

« 2, Option ID :- 650,

« 3, Option ID :- 651,

« 4, Option ID :- 652,

Answer Given:- 4, Option ID : -652
Question ID:- 164

The name of the process of converting sugar into alcohol is
(1) Nitrogen fixation

(2) Moulding

(3) Fermentation

(4) Infection

=Y %! Temhlgd H uftafda #13 & UHE 1 AH §
(1) geA felfam

(2) Hifedn
(3) fewvad
(4) HHET
Options:-

«1, Option ID :- 653,

« 2, Option ID :- 654,

« 3, Option ID :- 655,

« 4, Option ID :- 656,

Answer Given:- 3, Option ID : -655
Question ID:- 165

Given below are two statements one of them is labeled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : The frequency of watering field is comparatively higher in summer season.
Reason (R) : It is due to the increased rate of evaporation of water from the soil and the leaves.
(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.



9 FFe7 fru mu F 1w A fued (A) 3R W HT HROT (R) FHE T R 1 A9 0 M0 He HY G
Y G W T 997 Hi|

Afemed (A) : TR %g 9 G4 (wgeh) § IE 3 F1 3Ngfa Aterhd e A §)

FWT (R) : $HHT RV & Tazdt Wd wfadi Q@ o a9 ) X s dn

(1) (A) 3R (R) SH TE €, o (R), (A) T T AT HXdT B )

(2) (A) 3R (R) i W& € TTq (R), (A) F FE SWEN T FA L
(3) (A) W&, R (R) T &
(4) (A) Td B, A (R) W& 2

Options:-

«1, Option ID :- 657,

« 2, Option ID :- 658,

« 3, Option ID :- 659,

« 4, Option ID :- 660,

Answer Given:- 1, Option ID : -657

Question ID:- 166

Plough contains a strong triangular iron strips. What is it called ?

(I) Beam

(2) Hoe

(3) Ploughshaft
(4) Ploughshare

& U @18 1 ooied oA aadt ot B, S8 5 et W €2

(1) <

(2) parel

(3) THIw

(4) i
Options:-

.1, Option ID :- 661,

« 2, Option ID :- 662,

« 3, Option ID :- 663,

« 4, Option ID :- 664,

Answer Given:- 2, Option ID : -662
Question ID:- 167

Which of the following is true about veins ?

(1) It carries oxygen rich blood.

(2) It carries blood from heart to all parts of the body.
(3) It has thick walls.

(4) It ontains valves.



e 1§ w1 S forell & dely § Wl €2

(1) & SHrAsH g5 = T84 HIdl ¢ |

(2) U T H T W IR & Fa 9 H o St E
(3) g fufat Wt dt €1

(4) 9% aCd g B )

Options:-

«1, Option ID :- 665,

« 2, Option ID :- 666,

« 3, Option ID :- 667,

« 4, Option ID :- 668,

Answer Given:- 4, Option ID : -668
Question ID:- 168

Which of the following is true about top - soil ?

(1) Ttis soft, porous and retains less water.

(2) It provides shelter to many living organisms such as worms and rodents.
(3) Ther ots of big plants are embedded entirely into it onl .

(4) Itis usually light in colour and has a less amount f humus and minerals.

e-ger & aR o, = W FH-T1 U 9 72

(1) ¥89g, WY iR F7 9a 9@ arfl )

(2) % F3 ofidl S FHHF R Fge] (JS=A) & AEH I&H HEl 81
(3) oS W w1 5§ g @ W 3HH i @t € )

(4) I8 AEId: o U1 ) a9 350 gAY iR WS i A w B ¥

Options:-

«1, Option ID :- 669,

« 2, Option ID :- 670,

« 3, Option ID :- 671,

« 4, Option ID :- 672,

Answer Given:- 1, Option ID : -669

Question ID:- 169



Below are two statements about tropical rainforests. Read them carefully and cheose the correct
answer with the help of given options :

Statement (I) : They are highly suitable for supporting enormous number and a wide variety of
plants and animals.

Statement (II) : Because these forests have ample food and shelter for all the animals, therefore
there is n competition for either food or shelter.

(1) Both Statement (I) and (II) are brue

(2) Both Statement (I) and (II) are false

(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

i< swRfeds auia-dl § 9 Q) FuA fgu v § 1 5% o9 7 v AR fu gu fosedl &) demdl § @8 IW

w1 =4q il

HIF () : I 3 foredl o Sigell =) fawna SadEn & e & fau srafus sugea €1
A (1) : Ik 38 Wi Tgeil & fou 9o iR g wge 9= § & %, s1q: 399 wioodf =8 & )
(1) @A (1) R (11) <A =& ¥

(2)  ®YA (1) 3R (1) S 7T B 1

(3) WY (I) I &, T A (II) TTd ¢ |

(4) R (1) A &, T A (1) FEI 2
Options:-
.1, Option ID :- 673,
« 2, Option ID :- 674,
« 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Following are the functions of Tongue. Choose the correct answer from the given options :

(A) Secreting saliva

(B) Converting sugar into starch
(C) Detecting taste

(1) (A) and ()

(2) (B)and (C)

(3) (A)and (B)

(4)  Only (C)



Sty o e & § 1 o gu fashedl § A W) Sw 1 g9 )

(A) R fARiE |

(B) WHU &l Hig | wgeA |
(C) T 4l HEAT|

%<

(1) (A) 3 (©)

(20 (B) 3R ()

(3)  (A) R (B)

4 &ad (©)

Options:-

«1, Option ID :- 677,
« 2, Option ID :- 678,
« 3, Option ID :- 679,
« 4, Option ID :- 680,
Answer Given:- 2, Option ID : -678

Question ID:- 171

Which of the following Venn diagram is appropriate te sho human trais and abilities :

»O O O O

Family = Environment Illness or old age Human
traits & abilities
(2)  Famil XN - Illness or
amuly Environment old age
Human

traits & abilities

(3) Family Environment

Human
traits & abilities

lllness or
old age

Family

(4) [liness or old age

Environment

Human
traits & abilities



e § 9 -1 SF-31eE 5™ % A AR auais] # S TR 9§ yefdid s g2

0o O O O O

A&l S W ggEEwr WA AU 0

£ K N
(2) wRaw ST Q—» CiLIR I FAG |

UM &0 U

Sl 71 FerEE

AT A geraEn
T A& U

Options:-

.1, Option ID :- 681,

« 2, Option ID :- 682,

. 3, Option ID :- 683,

« 4, Option ID :- 684,

Answer Given:- 3, Option ID : -683
Question ID:- 172

How will you differentiate between a star and an artificial satellite in night sky ?
(1) By its twinkle

(2) By its speed

(3) By its shape

(4) Byit colour



39 UfH % e 1 faarl o3 Fm 3wwd F o d a F9 & g ?
(1) 3% feafend & gr

(2) R afd & g

(3) 3 HHR & g

(4) 37 T gW
Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
« 3, Option ID :- 687,
« 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

Suppose you are planning a mountaineering trip and you have to select a cloth (material) for the
ground and for a tent to be used for the trip. Which of the fellowing materials will you choose for
your tent ?

(1) Thick cotton sheet

(2) Thick woolen sheet

(3) Single layered plastic sheet
(4) Double layered plastic sheet

AT e fF 1Y Teh g1 AT G S o) AT 541 @ & 3R 3A9eh) 961 § 969 ) fosr & fau @ik
32 % foru Suged g9 (hUS) B G99 FA 7 | A9 A= § | R wmei w1 gAE oA Y2 % fau w81
(1) IS HUE =i e

(2) W& S Ee

(3) U a8 aell wnfes i

(4) 7% ATl wnfie e

Options:-

.1, Option ID :- 689,

« 2, Option ID :- 690,

« 3, Option ID :- 691,

« 4, Option ID :- 692,

Answer Given:- 4, Option ID : -692
Question ID:- 174

‘Magh Bihu’ is celebrated on the 14 and 15 of January. This is the festival of :
(1) Odisha

(2) Assam

(3) Madhya Pradesh

(4) Uttarakhand



‘o1 &g, 14 315 A0 S FAE S € ) 39 fRE T o om HAG € 2

(1) A
(2) 3THH

(3) H¥ USYW
(4) 3IWETE
Options:-

.1, Option ID :- 693,

« 2, Option ID :- 694,

« 3, Option ID :- 695,

« 4, Option ID :- 696,

Answer Given:- 2, Option ID : -694
Question ID:- 175

Boojho is a trader of Itr (Perfume) in Uttar Pradesh. To which district of Uttar Pradesh will
Boojho go to purchase Itr/Perfume ?

(1) Moradabad

(2) Kannauj
(3) Lucknow
(4) Meerut

T IR YU H 39 1 AR g1 G50 §9 @leA S Yo & fohd et H S 2

(1) HugeER
(2) FAS
(3) @IS
(4) H@
Options:-

.1, Option ID :- 697,

« 2, Option ID :- 698,

« 3, Option ID :- 699,

« 4, Option ID :- 700,

Answer Given:- 2, Option ID : -698
Question ID:- 176

Below are two statements. Choose the correct answer :
Statement (I) : Old people are an important source to know about the past.

Statement (II) : The understanding that old people are an important source to know about the
past will encourage children to intera t with them.

(1) Statement (I) and (II) both are true

(2) Statement (I) and Statement (II) both are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true



1 3 A feu o § ) 3R o9 9 1) o U g famedl § I 9t 39 A5A L

HIA () : WA FHA & S H TdT A R Th Fecd QUi &id g7 & |

HYA (1) : 99 T I8 G9F A o T A SHH F TR § U9 A H Th gga i Hd & @1 S g0
A 96 F7A F T Ifa g

(1) e (1) 3R (1) 2F1 | & |

(2)  ®/A (1) 3R (11) A TIeE B

3)  ®UA () I §, W HEA (II) Td & |

(4) HAF (I) T &, UG HAT (I1) FE 2 )

—~~

Options:-

.1, Option ID :- 701,

« 2, Option ID :- 702,

« 3, Option ID :- 703,

« 4, Option ID :- 704,

Answer Given:- 1, Option ID : -701
Question ID:- 177

Consider the following statement (s) and fill in the blank with the help of cede given below.
Statement : | have a sister. My sister is deaf. My sister can play the piano. She is
Code:

(1) Weird

(2) Spedial

(3) Desolate

(4) Inferior to me

frfafiga o w faar Y 3 1 fku mw $2 #) gemar 9 fad = 51 gfd &
T8 Tk 96T | B8 oA g9 A Wbt | 9 sg frarAl oo gt & 1 98 e g

Options:-

«1, Option ID :- 705,

« 2, Option ID :- 706,

« 3, Option ID :- 707,

« 4, Option ID :- 708,

Answer Given:- 2, Option ID : -706

Question ID:- 178



Fill in the blanks of the following riddle with the use of appropriate word.
Somewhere it is dew
Somewhere it is snow,
Steam is also as you know
_ has forms so many,
that is what says my Nani
(1) Sunlight

(2) Air
(3 Wind
(4) Water

I VI=G] 1 WA h 39 el *h fa wHl ) gfd S

@ ymAd?
a9 w4 § 2,
et TH A §)

() &S e

(2) @&

(3 T

(4)
Options:-

<1, Option ID :- 709,

« 2, Option ID :- 710,

. 3, Option ID :- 711,

« 4, Option ID :- 712,

Answer Given:- 4, Option ID : -712
Question ID:- 179

Kudak is the language of Jharkhand. In Kudak, the word ‘Torang’ means :
(1) River

(2) Forest
(3) Song
(4) God

FgH ARG FI M 1 FZFH 9 J ‘AN’ g w1 A §
(1 7

(2) d
(3
(4) <E



Options:-

.1, Option ID :- 713,

« 2, Option ID :- 714,

« 3, Option ID :- 715,

« 4, Option ID :- 716,

Answer Given:- 2, Option ID : -714
Question ID:- 180

Now a days, the farmers use which of the following instruments to separate seeds from the cob ?
(1) Rotawaiter

(2) Thresher

(3) Cultvator

(4) Disk flask

ANEd FFEA 3 ) S | g o fasfafed § 9 f59 99 % go s5a +d €2

(1) WRE

(2) W

(3) HHEIAAR

4) Te=r woh
Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
« 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 2, Option ID : -718





